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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your answer

Isheet.

61- “How well do you know Ted?”
“Very well, we ... friends since we were children.”
1) are 2) were 3) have been 4) will be

62- We have planned everything for our vacation; however, if the weather ... bad tomorrow, we may not go to
the beach.
1)is 2) was 3) will be 4) be

63- | regret to inform you that the books you have ordered in advance are not ... yet. We’ll let you know as soon
as they are ready.
1) familiar 2) valuable 3) available 4) balanced

64- My sister has been sick for a long time. | feel like she’s ... her strength back after the serious illness.
1) including 2) referring 3) preventing 4) gaining

65- The body of the person Killed in the fire was badly burned, so the firefighters could not ... him at first.
1) check 2) increase 3) identify 4) pay attention to

66- There are only two kinds of people who are really fascinating: people who know everything, and people who
know ... nothing.

1) fluently 2) absolutely 3) greatly 4) frequently

PART B: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

There are some ways to help and respect the elderly. You may find the following useful in dealing with
the elderly people in your family. Offer to provide support. Elders often need some kind of help with their
day-to-day tasks. They may need help reading their e-mails, or they may need constant care because of
their health problems. Let them know you are interested in helping them. Don’t guess about what the
person needs or wants. If you do, the person may feel that you think they are disabled or you don’t respect
them. You can say something like, “Grandmother, I know you may not need my help, but if you’d like some
help around the house, 1’d love to do that for you.”

Take on the responsibilities you can. You might not be able to provide all the care that the person needs.
For example, if someone needs nursing around the clock, and you are not available all the time. However,
you can hire a nurse by paying to satisfy their needs. The problem is that in some cultures, it is considered

disrespectful or a failure to hire someone outside the family to care for an elder.
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Don’t ignore or forget yourself. Taking care of an elder may create some changes in your life, but it
should not cause you to lose your job or give up your musts.
Help them stay healthy. Elders may have a hard time staying active and eating healthy meals. They may
have trouble moving around. Shopping and cooking may be difficult for them. Visit the person regularly
and go for a walk with them. Even a short walk provides fresh air and movement. Bring them food when
you come for a visit. In this way, they won’t need to spend a lot of energy to get a nutritious meal. If you
can’t bring them food, look into programs such as Meals on Wheels which deliver food to the elderly.
67- Which one is TRUE according to the passage?

1) We should help the elderly without asking them. 2) We should guess about the elderly’s needs.

3) We should offer help to the elderly if they need. 4) The elderly should listen to what we say.
68- The underlined word “constant™ in the passage is closest in meaning to ... .

1) excellent 2) important 3) practical 4) continuous
69- Regarding our responsibilities towards the elderly, we ... .

1) should be at their service at any event 2) should ask them to forgive us

3) can hire a nurse to take care of them 4) can give up our jobs to meet their needs
70- All of the following sentences are true about the passage EXCEPT ... .

1) The elderly can use delivery meal if necessary.

2) The elderly should spend a lot of time preparing their food.

3) Walking with the elderly and bringing them food are advised by the author.

4) Taking care of the elderly by a stranger is not appreciated in some cultures.

(1) ol 015

PART C: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your answer

sheet.

71- 1 didn’t enjoy the movie at all. 1t was really boring. As a matter of fact, it was ... movie I've ever seen.
1) a bad 2) worse than 3) as bad as 4) the worst
72- 1 don’t think Maria knows many people. Whenever | see her, she is always by ... .

1) herself 2) themselves 3) itself 4) himself
PART D: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice

OoNn your answer sheet.

Firefighters are some of the bravest people out there. They put their lives at ...(73)... every day on the
job to keep the rest of us safe and sound. But firemen and firewomen still have those days at work that
make ...(74)... wonder what the heck people were thinking when they called 911. Some of the calls
firefighters respond to are enough ...(75)... you laugh out loud. I’m not sure which must stress them out the
most, these ridiculous, funny calls, or the ...(76)... ones when citizens are in real danger. One thing is for
sure: there is never a dull moment in the life of a firefighter.

73-1) hope 2) craft 3) arrow 4) risk
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74-1) scratch them their heads and
3) them and scratch their heads
75- 1) to make 2) make

76- 1) famous 2) regular

2) them scratch their heads and
4) and their heads scratch them
3) making 4) have made

3) serious 4) favorite

PART E: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct

choice on your answer sheet.

Holidays are special days for the people of one nation or culture, which are set aside by the law or

through a custom, and on which everyday activities, such as work or school, are normally suspended. Every

country has several important holidays, which can be national (important for the state), religious

(important for a particular religious group), or simply cultural (such as celebrating the beginning of a

season, for example). Many holidays are celebrated in the winter, which is why this period is also known as

“the holiday season”.

Mexican people traditionally celebrate Christmas for twelve days— from Christmas evening on

December 24th, to the Three Kings Day on January 6th (also called the Epiphany; Epiphany literally

means a sudden moment of understanding.)

The Three Kings Day commemorates the end of these celebrations. This holiday was inspired by the

biblical story of the three kings from the East (also referred to as Three Wise Men or Magi), who spotted a

bright star in the sky the night Jesus was born, and came to see baby Jesus.

This holiday is so important for Mexicans that they often give additional gifts to their beloved ones on

this day, even though it is shortly after Christmas. Another custom specific for this holiday is baking

the Rosca, a sweet bread ring in which a small baby Jesus figurine is placed. Whoever finds the figurine has

to host another holiday’s party in February.

77- The best title for this passage can be ... .
1) A Moment of Understanding
3) Mexican holidays

2) Three Kings Day
4) Celebrating the Holiday Season

78- According to the text, which of the following statements is TRUE?

1) The Three Kings Day is one of the holidays which is held in May.

2) The Epiphany or little Christmas falls on a different date each year.

3) The Epiphany was inspired by the story of Three Wise Men.

4) The person who finds the Jesus figurine has to provide entertainment for the rest of the year.

79- According to the above passage, all descriptions about Rosca is true EXCEPT that ... .

1) it is a bread in which a small figure is put

2) it is a kind of sweet baked in the form of a ring

3) it is a specific custom for a national day in Mexico on December

4) it indicates which person should hold another party

80- The passage speaks about all of the followings EXCEPT that ... .
1) The Mexicans’ celebration which ends on January 6th is called the Epiphany

2) Epiphany is a Christian festival held in the memory of the Magi

3) Magi refers to Three Wise Men who came to see baby Jesus

4) Three Kings Day is held shortly before the Christmas
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